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Note : All questions of Section-A are compulsory. In Sections-B and C, give answers as per instructions 

given. 

SECTION-A 
5 

1. 	Fill in the blanks : 

(a) Our main rabi crop is 

(b) 
The technique of making rust-proof iron, and copper alloys belongs to ___ 

period. 

(c) 
neurons help in taking messages from sensory organs to central 

nervous system. 

(d) Flyash is used as valuable material for 

(e) 
As a result of soil erosion, we not only lose soil but also many 

 

2. 	State if the following statements are True (T) or False (F) : 

(a) In Iron age, Indians knew how to make steel. 

(b) 
Insulin, a drug to combat diabetes, is now prepared synthetically. 

(c) 
The effect of hormones is faster than the nervous action. 

(d) 
Intelligence is to find a single solution to a problem, and creativity is to look many 

possible solutions. 

(e) 
Emergence of a centralised state power in Mauryan empire led to technical 

developments of those time. 
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3. 	
Give short answers for the following questions (in not more than 

50 words). 	5 (a) 
VVhat are the causes of alkalinity and salinity of soil ? 

	
x2=10 

 
(b) What observations led to the discovery of 

Neptune and Pluto ? Why is the search of planet X still on ? 

(c) 
State the reasons why there were such few developments in science in British 
India. 

(d) What features in Indian society led to the decline of science in post-Gupta 
period ? 

(e) Explain the term artificial intelligence. 
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SECTION-B 

Answer any eight questions. Limit your answer to 100 words for each question. 

4. 	Describe the achievements of Bronze age in broad areas of quantitative science. 	5 

5. 	Explain the terms producers, consumers and decomposers by giving appropriate 	5 

examples. Discuss their relationships. 

6. 	What are the important environmental considerations that should be taken into account 	5 
while implementing technology policy ? 

7. 	Name two types of waste products that can be reused after recycling. Describe the 	5 

process of recycling for any one of the products mentioned by you. 

8. 	Comment briefly on the advancements made in Indian agriculture in : 	21/2+21/2=5 

(a) Arid zones 

(b) Hilly regions. 

9. 	What is meant by lead times of a scientific discovery ? Explain giving two examples. 3+2=5 

10. Explain how vaccination helps to resist diseases. 	 5 

11. State the developments that helped the advances of science and technology during 	5 
Renaissance. 

12. What is the ideal way of pest management ? 
	

5 

13. Discuss the factors that affect the psychological stability of an astronaut in space. 	5 
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SECTION-C 

Answer any four questions. Limit your answer upto 200 words for each question. 
14. What is biotechnology ? Describe its main techniques. List any two applications each 

in the fields of agriculture and medicine. 	 2+4+4=10 

15. State and explain the ways by which communication media can help minimize 10 
inequalities in society. 

16. "Science influences social adifice, an in turn society influences scientific developments." 10 
Justify the statement. 

17. What do you understand by biological evolution ? Explain, with the help of appropriate 10 
diagram, how biological evolution has taken place. 

18. What are the reasons for declining forest area in our country ? Discuss the problems 
associated with depletion of forest cover. Name the states in India where maximum 
deforestation has occurred. 	 5+3+2=10 

19. Enumerate the various features of scientific knowledge. Elaborate each one of them 10 
giving suitable examples. 
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